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1. Solve xyl—y'zo D=1, (10%)
e

2. Solve 3" +9y=0; y(%)-—-l, y’(-;f).—.-s. (10%)
3.Solve x°y"-6y=0, y1)=5, y'A)=5. (10%)

4.Solve y"+4y'+3y=¢€', p(0)=0, »'(0)=1 by Laplace transform. (15%)
5. Solve

x"-2x"+3y'+2y=4 ,
, x(0)=x'(0)=y(0)=0 by Laplace transform. (20%)

2y =x"+3y=0
6. Solve
3 2 -3 1
-2 -3 1 2
Al = (7%)
2 1 4 =2
-4 -5 3 1

7.Aforce F(x,y,z)=i—y j+xyzk moves an object along the path

x=1{

y=—t> , 0<t<1. Calculate the work? (8%)

z=1
8. Find the Fourier series of the function

2x,
0 (20%)

f(x):{ | _2<x<0




